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3. Lily has written a story. Find and correct her mistakes.

It was pouring with rain so we could’nt go outside
to play. | wasnt very happy about this but there was
nothing | could do about it. Harry didnt like my idea

of playing a board game instead.
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2. Contract the word pairs below and use them to complete the sentences.

A. going to the park this afternoon.

B. Inthe garden, a slimy, green frog.

C. Adam is upset because never talked to him like that before.
D. The teacher said we rush our work before break time.
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Recognising Simple Contractions

3. Make 3 contractions from the words

1. Underline the contractions in the
below.

sentence below.

The rocket couldn’t set off as she have we
there wasn’t enough fuel.

are had you
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2. Match the words with their contractions.

we have

it

we've

‘ didn't ’

you will

—

4. Rewrite the sentence using contractions.

You would not be able to walk
on Jupiter because it is not
solid.

5. Each of the facts below are not true! Rewrite the sentences using contractions.

Venus is the closest planet to the Sun.
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You can go into space without a spacesuit.

There are ten planets in our Solar System.
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1. Use the underlined words to make contractions and write them in the boxes.

The rain is not going to stop until this afternoon so

we cannot play outside until it is dry.




